IES MURILLO Maths 3r‘d ESO

EXAM UNIT 4 (POLYNOMIALS)

1) Work out: (2 points)
a. 3(x®-2x%+x-5)-(3x> +2x-3) =

b. (x°-2x3+x%—x+2)-3x(x*-2x% +1) =
C. (2x2 —3Xx3 ~x2 +2)=

2) Complete: (2 points)
a. 3+2x)2=9+...+

b (o=3)(t3) =4x* ..

Co (oveimnnn )% = x4 -10x% +......
9
d — X+ = e, -=
(X YR ) =
3) Factorise the following: (1 point)

a. 5x3 —10x% +5x =
b. 4x?-9=

4) Simplify: (2 points)
. 2x® - 2x _
T 6x% +6x

2x%(x? +14x + 49)
x(x? - 49)

b.

5) Work out and simplify: (3 points)
a (x—1P —(x+2)(x-2)+2x-3=
b. 3(x-3)(x+3)-3(x+3f =

x+3 3x+1 3-2x 1
c. - + —

2 9 6 9




Maths 3 ESO
SOLUTION
1)Work out:

a. 3(x3-2x% +x-5)-(3x3 +2x-3) = 3x3 —6x% +3x-15-3x3 - 2x+3 =
=—6x%+x-12

b.
(x°—2x3 +x% —x+2)-3x(x*-2x2 +1) = x° —2x3 + x® —x +2-3x% + 6x3 - 3x =
=-2x° +4x3 +x2 —4x+2

c. (2x2 —3Xx3 —x2 +2)= 2x% —2x* +4x% -3x3 +3x% -6 =

=2x? —2x* -3x3+7x% -6

2) Complefte:

a. (3+2x)% =9+12x + 4x°

b. (2x%-3)(2x%+3) =4x*-9
c. (x2-5)% =x*-10x% +25

332 2
d.(x ZJ(X+2J—X 2

3) Factorise the following:
a. 5x3 —10x% +5x = x(x% +2x +1) = x(x +1)°
b. 4x% -9 = (2x—3)(2x +3)

4) Simplify:
L 2 -2x 2x(x* 1) _ (x=1)(x+1) _ x-1
CbxZ+6x  bx(x+1) 3(x+1) 3
b.
2x2(x2 +14x + 49) R 2x(x2 +14x + 49) _ 2X(x+7)  _2x(x+7) _ 2x* +14x
x(x2 - 49) (x2-49) (x+7)x-7) x-7 x-7

5) Work out and simplify:
a (x—1F —(x+2)(x-2)+2x-3=x%-2x+1—-(x* - 4)+2x -3 =
=x?-2x+1-x%+4+2x-3=2

b. 3(x—3)(x+3) - 3(x +3° =3(x? —=9) -3(x2 +6x +9) =
= 3x% 27 -3x%-18x-27 = -18x 54

c x+3_3x+1+3—2x_l_9(x+3)_2(3x+1)+3(3—2x)_£_
T2 9 6 9 18 18 18 18
_9x+27 6x+2 9-6x 2 9x+27-6x-2+9-6x-2 -3x+32

18 18 18 18 18 18






